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Fder

- Instructions :

: (§)

(i)

(itr)

v)

Wit v @ * ge wifeg)

All questions are compulsory.

T HE 1 R 8 7 AREYIE vE § ) TS WE W 1 W% et g
Question Nos. 1 10 8 are very short answer type questions: Each
question carries | mark.

TE FHF 9 ¥ 12 7% egIaaq vE € vl¥E v W 3 3iw smife ¥
(I F Afemam woe-dm so v ¥)

Question Nos. 9 10 12 are short angwer type questions. Each qm.stmn
carrics 3 marks. (Maximum word-limit of answer is 50 words)

uvE FHE 13 8 18 7% drdawia we €| W e ¥ il frwea #)
T&F W W 4 3% mfea €1 (I Afvwmm v=-dm s e ¥)
Question Nos. 13 to 18 are long answer type questions. Each question
has internal choice. Each question carries 4 marks. (Maximum word-
limit of answer is 75 words)

T HEE 19 W 24 W6 sy v ¥ | W@ wer F aviafe fawea ¥
YT W W 6 3% Anited €1 (I * Aewman yz-dmm 250 vz ®)
Question Nos. 19 to 24 are long answer type questions. Each question
has internal choice. Each question carries 6 marks. (Maximum word-
limit of answer is 250 words)
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weA- 1.

-6

m—‘lﬂ -

wi-11"

(2]

ffte sl == €2 2
What are Giffen Goods?
W 2 Wi & W few aem w1 e €2 [
Which type of market is gold and silver market?

© fowsmEmt? (1)
What is optional money?
I w0 e we-m t? (1
Which is the central bank of India?
T & D 2w g (1]
Give two examples of direct tax.
wifea v fF wea €72 [1]

What is balanced budget?
IR FEEA A ¥ v E? (1]
What i» meant by balance of trade?

e fafa w fed vt €2 (1]
What is floating exchange rate?

PO IRA | ¥ 3 € 2 v W@ fafag) [2+1=3)
What is total production? Write its formula.
aqet wferafiren 2t it fardreend farfarg ) [1+1+1=3)

Write three characteristics of imperfect competition.

mm«mmﬂmmmm,
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wR-13 -

UA-14

wt-15.

WT-160

13
e T wafe areteren 9 areedfes Pk @) W SR

[2+2=4]
Explain the mutual dependence of micro- and macro-economics.

e
OR

TEA® S @ SRwies s § SRR W R (I
T |

[1+1+1+]1=4])
Explain the difference between real economics and ideal economies

(any four).
shwa fon s = $w e t 2 ¢ d@ i Raw €2

How does the average fixed cost curve loak like? Why does it lodk
like this?

[2+254]

Srear
OR

e dam e ow T s SaRER €2

How do long marginal cost and average cost curves look like?
fardll srderarea ¥ TR SR S, A S0 SFERT & SO @
1 ? =ren wifaw)

Explain why all the last expenditure in an econemy is equal to the
total factor payment.

[4]

o
OR

frel 2 ¥ weam & Privie ¥ w0 i wee W IER W §e Wi
w fafa)

Write some limits of GDP as the co-ordinate of the welfare of a
country.
v 3 T Y ot e Rvmn & 2

(4]
What is the alternstive definition of cumency supply in India?

NM-37A
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141

Jaar
OR

=it ¥ & smyfs wrd fafrg (3 9170 | [1+41+1+1=4]
Write the modemn work of Commercial Banks (any fowr).

uyr-17¢ ¥ %} fardwamall ) fafag (F1€ 9) | [1+1+1+1=4]
Write the features of the budget (any four).

Jaar
OR

T T F s w0 ot t (S5 v ?
Why government budget is required (any four)?

gyA-18 - e AW N IrEger B Aw v % Iy ey (B W) ) [1+1+1+1<4)
Write measures to comrect the imbalance in the balance of

pay ments (any fowr).
3rear
OR
fey fafrom o % wu 3 wh ey (W w0

Arguc in favour of stable exchange rate (any four).

U-19 e % %1 wfen mren sifag) (6)
Explain the indifference curve with diagram.

uar
OR

% TR WY A 20 T, A WGHT 40 7. ¥ W &, e e el
it &, @ woe v ¥ e vt ? .

[fthe income of the consumer increases fram Rs. 20to Rs. 40 st the
price remains unchanged, then what changes are there in the budget line?

Y-20, w3 wef w ARt Tl e vty (S B | (6]
Explain the elements affecting demand (any six).
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- .

wmR-22°

un-23

OR
e 35 et S W8 & ol w0 s R (9 ")

Explain the reasons why mmormmw(mm)

T R e R el ) v (9 )
Write the clements affecting supply (any six),

TR wwmnhI AR

What does clasticity of supply mean? How is it measured?

T g ofk w3 wefem e t—
37 Wgen s | s
(¥) dgeR S A wn?
What happens when the prevailing price in the masket is-
(@) greater than equilibrium price;
(b) less than eguilibrium price?
Jreay

OR
W T O WA e R W Wi (9 )
Explain the difference between nommal price and markst price
(any skx). http://www.cgboardonline.com

W & (o fagin w sweired fefe (w o) 1
Write critiques of Keynes's employment theesy (amy six).

i < ¥ v falag (W @) |
Write the causes of exocessive dumand(any abv).

(6]

[3+3=6)

(6]

(6]
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Pv-24 < Poifen sheal & Sofs o sl dehes WHvT SR W ORI

(6l

it :

w
() ww um W Cam W T
(i) Tadwl ¥ M P wRE SR
(iii) fwufor wm
(iv) P
(v) vRawl g s =
(vi) e gra M fsm wrm =
(vii) STCH A
(wiii) Aafers &

Based on the following information, calculate Personal Income and

Disposable Income :
Items

(/) Net domestic product on factor cost
(if) Exiemnal sccured net factor income
(lif) Undistributed profit

(iv) Corperation tax

(v) Interest received by families

(vf) Interest paid by families

() Teansfer inseme

s (wgH)

8,000
200
1,000
500
1,500

1,200
300

Rs. (in-Crore)

8,000
200

1,580
1,200
308

[3+3=6]
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[ OO L )

7]

Sreray
OR
ﬁqlha?@ﬂmmmmmnmm: »
w T (W)
() I3 TRl B 4,000
(in TeTm - 700
(#i) =™ - 1,300
(v) == - 500
(v) Sm =Y - 4,000
(vi) w&w Wy fafdm ~ 1,500
(vi) Y% fadeh fafam b 1,000

Based on the following information, calculate National Income by

expenditure method :
Items
(i) Salaries and wages
(i) Rent
(ii) Profit
(iv) Interest
(v) Consumption expenditure
(vi) Gress domestic investmsnt

(vif) Net fepeign investment

Rs. (in Crore)

- 4,000
- 700

- 1,300
= 500

- 4,000
- 1,500
- 1,000
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fawa : anlyre

Subject : Economics

M7 : 3que | | il : 80
ime : 3 hours | | Maximum Marks : 80
T 2 (i) Wit aE W Tw S
nstructions : All questions arc compulsory.

(i) I FHF 1 R 8 7% HfaerEaig g § ) el yE W1 3w e )
Question Nos. 1 to 8 ure very short answer type questions. Each
question carrics | mark.

(iii) WA wHiE 9 W 12 7% wqIwia vA €1 Y@ WA W 3 3w yfea €1
(I T fuFag we2-Hm so R )

Question Nos. 9 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

(iv) WA W% 13 | 18 7% Idawia vA € W v § aviafte fawes €1
TR% W W 4 3% mifza €1 (3W R Afuwen v=2-wm s 1= §)
Question Nos. 13 1o 18 are long answer ts pe questions. Each question
has internal choice. Each question carrics 4 marks. (Maximum word-
limit of answer is 7.5 words)

(v) YA FHiF 19 W 24 7% Srdaaitg v € vl WA o riafes fawen €
AT YT N 6 3% wmifea &1 (I 7 aifuwam w=-wm 250 v #)
Question Nus. 19 to 24 are long answer type uestions. Each question
has intcrmal choice. [iach question carries 6 marks. (Maximum word-
limit of answer is 250 words)
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2]

WA-1 I sqaen w1 anaa wet e § ) 1
Where is the siudy of consumer behaviour done?
WR-2 {3 % wom frw aom w ImEm R 2 i
Which type ol market is brickhs marher?
WA-3  wifersmom g ]
What is token money?
W4 FR-wmIE A W e s t? 1]
Which bank issues notes?
WA-5  WOn W femd wm & fog mi £ 2 (1)
For how much times is the government hudget made?
W4 wWmEmwrfrawwt? 1]
What is deficit budget?
-7  wEfm e fafrm sl saa €2 m
What is called managed floating exchange raic?
YA-8 Wz ey fed v €7 0
What is called closed economy?
wWA-9  wiwin 3 A smm e ¢ 2 vew e fafe [2+1-]]
Whut is meant by marginal production? Write its formula.
wA-10 o wiafm v wwifusn ¥ sim fafa (W o) [1+1+1=])
Write differcnce hetween perfect competilion and  monopoly
(any three).

WA-11 I ¥ R & Tnae! feia @ #19 ¥ fagia F 9 @ aim
T [1+1+1=3)

Statc any three differences between classical theory and Kcynesian
theory of income and employment.

Wi-12 wmayge R e o R itmfsmam t (W AN (141413
How many demands are included in the aggregate demands (any rhree)?

NM.37¢C
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13

Write  measures 1o correct the imbalance in the balance of

wm-13

payments (any four).
ey
OR
fem fafiremm i qu o ok o (Y wim) |

Argue in [vour of stable exchange rate (any four).

WA-14 TR 9 frdwmil ) fafag (9% wn) )

" ejefel '-||
Write the features of the budget (any four).

ear
OR

WK T 9 sravwwm ) Ot ¢ (9w ?
Why govemnment budgel is required (any fowr)?

WA-15 v F 4 ofd w5 dwfers sivim s § 2

[4)
Whal is the altemative definition of currency supply in India?

ey
OR

=l $41 & 3y wid fafag (W wm) )

[141+1+1=4]
Write the modem work of Commercial Banks (any four).

w-16  fault srdumren & wow sif =, v s sl & e w g
£ 7 wrem SHfaq

Explain why all the last expenditure in an economy is equal to the
total faclor payment.

14]

Juwr
OR

feht 3w % weamw & fakvies & v ¥ W Vi 3R ¥ O Wiy
"-'IMI Y

Write some limits of GDP as the co-ordinate of the welfage of a
country.
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urN-1?

wa-18

wa-19

141
e et e W S ferm @ 2 o Qen vl feram # 7 <24

How does the average fixed cost curve lnok ihe? Why does it look
like this?

ey
OR

Frdwreita wimia wvm A 3t wnT T &R Rwd €2 14
low du long marginal cost and average cost curves look like?

=y & wafe srdvmea #) wesfer fnka =) we ¥faw [242-4]
Explain the mutual dependence of micro- and macro-economics.

areay
OR

grafaw sy @ avhaw andyren § I W wWifag

(¥ W) (1+1+1+1=4)
Explain the difference between real economics and ideal economics

(any four) htip://www.cgboardonline.com

freifen ales @ tofew sm s &ofes Wit sg 9 o

Hfarg : [3-3=6]

w TR (wEH)

() wTOF TR W fram aie I = 8,000

(i) fodell ® wa fww Frw am - 200

(iii) Sfanfa & - 1,000

() Frm e - 500

(v) wieard gr W =T . 1,500

(vip amigonymrR frmam=sm - 1,200

(wii) SRR 3N - 300

(viii) Tafers Wt - 00

i
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18]

Based on
the r“"w"'l l"""""ﬂl“"ll. calculate Pervonal Income and

Disposable Income :
Hems Re. (in Crore)
() Net domestic product vn factor cost R.O00
(i) External secured pet fuctor income 200
(i) Undistributed profit - Looo
(iv) Corporation tax - 500
(v)  Interest received by families - 1,500
(vi) Intercst paid by families - 1,200
(vi) Transfer income 300
(viii) Personal tax - %0
rm
OR
forcaifin aiteal @ =a fafis g U¥TG 3 o o F : 1€
w wud (wig )
(0 T -
(i) feTm - 70
(iin - 1,300
(iv) ™ -
—— % 4,000
v kA - 1500
(vit) T fukeh P ) o
e PTO.

NM37C
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wa-20

wm-21

Ie)
Rased on the folloming informatinn, calculate Notionasl Income by

aapenditure methsd
tems Re (In € rore)

(1) Nalanes aml wapes - 4 iy
(117 Rem L
(1) Profit - 1,300
tiv) Interest - S0
(V) Consumption expenditure 4.000
(v) Gross domestic investment - 1.500
(vii) Net forcign invesiment - 1.000
W & orm fegia ¥t aneiraand fafay (¥ 9:) ) (6)
Write critiques of Keynes's employment theory (any six).

Nuar

OR

safuw win & wrow fefay (W o) |
Write the causcs of excessive demand (any six),
w0 ¥ i aran f yafem e t—
(31 W wrm R s,
(v) AP wrmAEn? [343=6)
What happens when the prevailing price in the market is-
(a) greater than equilibrium price;
(5) less than equilibrium price?

New

OR

R P T wraR Y 7 s we st (W ) | 16]

Explain the difference between normal price and market price
(any six),

NM-37C
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wi-22

w¥t-23

v¥A-24

-

171

ﬂ“mmmmwafﬂf“(‘“q.“ ]
Write the clements allectimg supply tany sivx)

N

OR
TR dmmwmanit @ s 02 [2¢4-6]

What does clasticity of supply mean? How is it measured?

i F) ywifir w wrd el 3 saren ¥ (9 0:) ) (6
Explain the elements offecting demand (any six).

Juaa
OR

win & firem @ ¥ ¥ el w1 svem wifag (¥ 0:) |
Explain the reasons why the rules of demand applicd (any si).

werm T %) wiae srem s (6]
Explain the indifference curve with diagram.

Juar
OR

ofz ITIEN W) 31 20 F. A TTHC40 7. QA §, frg W arfafida

wh £, A v T o feeda g g 2

If the income of the consumer increases from Rs. 20 to Rs. 40 but the
price remains unchanged, then what changes are there in the budget linc?

(YT X RN NN ]

http://www.cgboardonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
I gue Aad S 3l 10 v o,
Paytm or Google Pay &

NM-37C
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()
Instructions

(i)

(iii)

(iv)

(v)

™t vel v S

All questions are compulsory.

e WO 1 A 8 W sfverEey W € R TE W 1 e it
Question Nos. 1 to 8 are very short answer type questions. Each
question carries | mark.

T FA% 9 | 12 T wYRENT v €1 WO T W 3 3w smifen €
(TR * sfwwen we-dm sonz §)

Question Nos. 9 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

T W 13 | 18 7% defavla v € wtw ye F sl fawea €
WO T W 4 3w smifen €)1 (Fw w sfvwes we-dn s )
Question Nos. 13 to 18 are long answer type questions. Each question
has internal choice. Each question carries 4 marks. (Maximum word-
limit of answer is 75 words)

T HHE% 19 ¥ 24 7 fawdi we €1 vl v A sfafte freeg €
W% W W 6 3iw smifen €)1 (I ot s wer-m 250 v §)
Question Nos. 19 to 24 are long answer type questions. Each question
has internal choice. Each question carries 6 marks. (Maximum word-
limit of answer is 250 words)
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-1

-4

w™-S

WM-6

-7

(2]
‘T o e e da-w d? [1]
Which is the first law of ‘Gossen’?

TW & WK R R W e € ? (1]
Which type of market is milk market?

fefenmy T = & 0 ]
What is legal tender money?

wrdlg foard #% =y srfem wel €2 (1]
Where is the head office of the Reserve Bank of India?

Y T & T W Q) 4+ %4 =1]
Give two examples of indirect tax.

g TR R s €2 (1]
What is unbalanced budget?

PR HgeE S ad §? (1]

| What is the meaning of balance of payments?
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w-10

-1

wwm-12

o e st wed €2

What is called forward exchange rate?
sl e | s v € 2 vaw g el
What is meant by average production? Write its formula.

gafsr *t i fardreand fafrg )
Write three characteristics of duopoly.

v el s €2
What is aggregate supply?

gl Wit % SR W W i
Explain the concept of effective demand.

(1]
[2+1=3)

[141+1=3)
(3]

3]
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ar-13  feeh sderae 3 W siftny ww, TR SRS SRR ¥ woaR W
£ ? wren Ffa)

Explain why all the last expenditure in an economy is equal to the
total factor payment.

[4]

AT
OR

mmtmtmtwimﬂqmdww
w fafe)

WmesomelhnluofGDPudnco-«'d:meofthowelﬁnofa
country.

ur-14 s o g Y o dwfow R v €2

(4]
What is the alternative definition of currency supply in India?

roar
OR

sraftw ¥ ¥ sayfrs wid g (W W) | [1+1+1+1=4]
Write the modem work of Commercial Banks (any fowr).
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w-15 W W Rrdvaril v fafeg (W ) | [1+1+1+1=4)
Write the features of the budget (any fowr).

uar
OR

W T W s W Rt (W W) ?
Why government budget is required (any fowr)?

w-16 TR A 3 Sveger W v W % suR fefeg (W W) | [1+1+1+]1=4)
Wﬁtemtoemecttheimbtlminﬂnbdmeof
payments (any fowr).
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erar
OR

ey faPrr <t ¥ g 3 wk g (B W) |

Argue in favour of stable exchange rate (any fowr).
oo il s =i
NM-37B e

(4]
w-17 = O wafe sdurey ¥ wwafts finkn ) we wifvg) [2+2=4]
Explain the mutual dependence of micro- and macro-economics.
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oy
OR

s o @ ARviers SR ¥ SRR W Sy (W
wR) | [1+1+1+1=4]

Explain the difference between real economics and ideal economics
(any four).

w-18  3lwa fex owra wn S e € 2 aw T il e 4?2 [2+2=4]
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How does the average fixed cost curve look like? Why does it look
like this?
uar
OR
Ehdwrei @i o am o s SA R €2 (4]

How do long marginal cost and average cost curves look like?

w™-19 IR # yvifvr w7 a@ el ) fafag (9 o) ) [6]
Write the elements affecting supply (any six).

war
OR

Rt mrmad? @RI E? [2+4=6]
What does clasticity of supply mean? How is it measured?

WM-20 T O %) afey sqrem wifag) (6]
Explain the indifference curve with diagram.
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uar
OR

T ITIN WY AW 20 7. A YA 40 7. ) W §, g v seitufife
wht A iR v t?

If the income of the consumer increases from Rs. 20 to Rs. 40 but the
prieerunaimmchnpd.thmwhndlnpmthuhthewnm?

__—_\_—
NM-37B
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WN-21 ST W iR O e aeell oft sarer e (W Ot (6]
Explain the elements affecting demand (any six).

st ¥ Prey o] O & wroll vt warew e (W o) |

Explain the reasons why the rules of demand applied (any six).

w-22 o & S fagin ¥ seired PR (W o) | [6)
Write critiques of Keynes’s employment theory (any six).

oy
OR

anaftv il ¥ wrw fofeg (W o) |

Write the causes of excessive demand (any six).
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w-23  Prifve siegl @ dofew s sl ol o s W Toew

Wi : [3+3=6]
i e (why¥)
() e VR e WY 3R - 8,000
(i) Totell | W P SRS 5N - 200
(iir) wivwafRa ww - 1,000
(iv) Prmw - 500
(v) SRRl g W - 1,500
(vi) Rei g g fem o - 1,200
(vif) Sww - 300
(viii) ol W = 500

RRO.
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Based on the following information, calculate Personal Income and

Disposable Income :
Ttems Rs. (in Crore)
() Net domestic product on factor cost - 8,000
() External secured net factor income - 200
(iif) Undistributed profit - 1,000
() Corporation tax =
(v) Interest received by families - 1500
(v Tnterest paid by families = L
(vii) Transfer income - 300
(viii) Personal tax - 500
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OR
Preiftv syl | vy fafle gro it s o wroen wifrg .

w TR (W)
() SEvawd - 4,000
(i) T - 700
(#ii) @™ -~ 1,300
(iv) =™ - 500
(v) voim ey - 4,000
(vi) wwE W Refrim - 1,500
(vii) & Tedeh fafrim - 1,000

6]

NM-37B
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